B.Com. Part-II (Semester—III) Examination
BUSINESS MATHEMATICS
Time : Three Hours] [Maximum Marks : 80
Note :— (1)« There are three sections (A, B & ().

"X Section-A . 20 Marks. Section-B : 20 Marks, Section-C : 40 Marks.

(3)  All questions are compulsory.
(#) Section-B & Section-C comprise of short and long questioris respectively, one each
from respective unit halving internal choice from the sa:n'gs unit.
(3) Show necessary working notes wherever necessary.
SECTION—A
N.B. :— (1) Answer ALL the questions.

(2) Choose the correct answer and rewrite it.

1. LCM. of 36, 72 : m;’?
@ 70 N PRI
(c) 84 @ 71
2. HCF. of 24, 84 )
(a) 14 (b 12
(c) 18 - (d 13
3. If3x,%4 =2+ 6 the value of x will be
(a) 4 . (b) 3
(c) 2 @ 13
4. Sum of two numbers is 20 and difference is 6. The Numbers are
(a) 13,7 (b) 12,7
© 1) @ 135
> Ifthe 605t of a pen worth Rs. 50 is increased by Rs. 25. The rat;"t?f“increasc is
(a) 25% ®) 30%
) 75% @ 50%
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6. % The convert the percentage is

@) 75% (h)  80%
() 65% (d) None of these
7. Cost price is Rs. 2.000 is sold for Rs. 1,500. The rate of discount 18
(@ 3% b 15%
«) ‘:T“-: d 25%
S 1% commission on the sale of goods worth Rs. 20,000 is 4 -
@ Rs. 2,200 ' . (b) Rs. 2,309,..5:5
() Rs. 2,400 @ Rs.2,500 7

9. Dailv wages of seven workers are Rs, 250, Rs. 350, Rs. 370, Rs. 400, Rs. 450, Rs. 460, and
Rs. 480. Average wages is Rs.

(a) 394.28 | ®) 39024

(c) 392.28 (@ 39322
10 The Average of 25, 35, 45, 10 is *:M“

(@) 27.85 ) 28.75

(c) 29.75 (@ 30.28

1. Profit formula is

(a) S.P.—CUP. (o) C.P-S.P.

(¢c) S.P—Profit (d) Above (a) and (b)
12. Cost Price is Rs. 150 and Selling Price is Rs. 200. The profit % is

(a) 34.35% (b) 35.45%

(c) 36.34% (d) 33.33%

I3. Loss percentage formula is

Profit CP

a) ——100 b 100

® Sp g
Lis -

(c) 3 x 100 (d) Above (a) and (b)
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15,

Iy

The Simple Interest of Rs. 10,000 (@) 12% for one year is Rs.
(@ 1.200 (b) 1,400
© 1.600 (d) 1,800
Calculate 8.1 = 100, P = SO0 N = 2 years R = ?

) 20% (b) 25%

) 5% (d) 10%

The Compound Interest formula is _

R A o L!P(l-g—J

2) T 100 | 100
R

() C,E.:PEHTO-E' -P (d) None of these

Compound Interest of Rs. 4,000 @ 10% P.A. for three years is Rs.

(2 1330 (b) 1324
fc} 1346 L5 (d) 1312
.8 In aclass of 52 students, 12 students areglr}sthe Ratio of boys and girls in class is —_—
(ay 10:3 (b) 10:4
fc) 3:11 @ 10:5
!9, The ratio equivalent to 5 - 3 js
(ay 9:27 (b) 25:15
(e} 25:12 (d 9:25
20. Fourth proportional of 12, 24 and 48 is
(a; 98 (®) 99
(c) 96 d) 97 20x1=20
SECTION—B
L Find out the LOCM. of K0, 100, 112, 4
' OR
The sum of ages of father and by daughter is 130 and difference between their ages is 30. Find
the age of father ang age of daughter 4
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| the toti i 15 1250.
o%% garls moa certan college. If the total number of children in the college 13

There age are /
» .

What 1« the numbet of girls college

OR

w Rs 12,000 1t e sold for Ra 9000 after allowing certain discount, Find
4

Market price of Tab

ont rate of diseount

4
Find oul the average of 20, 40, 70, 90.

OR

. . g
A nurchase 150 Notebooks for Rs. 250 and sells them at Rs. 2.50 each. Find out the Profit &
I 4

1088

: ' 199 o b
I Santosh deposits Rs. 1,350,000 in a saving account for 3 years at the rate of 12% P.A. Calculate

the Interest Amount. 4
OR
Find out compound Interest of Rs, 4,000 at interest rate of 3% p.a. for 2 years. 4
Drvide Rs. 12,500 in the ratio 4 : 6. 4
Find out the compounde of ratio of 8
3:6,7: 12, land 20 : 25. 4
SECTION—C
Find out H.C.F. & L.CM. of 140, 180, 90. )
OR
Calculate the X value,
b+ 4 (x ~2)= 8x ~ 12. 3

A student of B.Com final scored marks as follows :

B.Com -1, 75% of 700 marks. B.Com.-11 65% of 700 marks. Find out the percentage of marks
he should score vut of 600 marks in B.Com. Final, if he wants to score 66% marks in percentage
taking B.Com.-llI together. 8

OR

It discount of 15% on fist price of R 35,500 15 given by wader find out the selling price. 8
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I purchased a home for Rs. 700000 1f Commussion was charged at 4%, calculate the Amount

of commission and how much 1 have 1o pay for this Home 8

OR

A car is purchased for Rs. RO,000 hut it has been found defective and hence it is sold for
Rs. 60.000. Find out Profit & Loss percentage 8

At what rate should Rs. 1,000 be invested so as to get Rs. 250 as Interest in 57 years. 8
OR

The amount with compound interest of a certain principal at 3% p.a. for two years is Rs. 28.550.
Find et the Principal Amount. - 8

A. B and C are cricket players. Their ratio is A : B=7: 4, and Bz C = 4 : 3, thefr total runs
were 420. Find out the runs of each player. 8

OR

The sum of present ages of 3 persons is 234 years. Ten years ago their ages were m the
ratio 8 : 12 : 14,

Find their present Ages.

XK

&
s

w



